Ml = 0l & AFESE EH Al A
2024 AT 20|AF LBHS|H AS Y
2A: ASY
HEM: =) 2 WH(ABI=R/F=)
el FHEE i (Crel: &)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
A= 7,496,138 7,509,849 A13,711
= 5,010,700
[ 654,610
Al 1,830,828
ES - IV E TN ES=)) 7,352,320 7,394,657 A42,337
= 5,010,700
[ 654,610
Al 1,687,010
ESIEEP 7,352,320 7,394,657 N2 337
= 5,010,700
[ 654,610
Al 1,687,010
FHEZMA 300,280 460,280 160,000
201 L2 A 280 280 0
01 AFR22IHI 280 280 0
OFel 23 MAl R0
2802 *10Z+1000K 280
401 A& B2 0HY] 200,000 370,000 A170,000
01 Al&H] 200,000 370,000 A170,000
OLI2X Z=0I0|2A14 2 200,000
—EX0Hsl 200,000,000 14! 200,000
402 QIZERF=0|H 100,000 90,000 10,000
01 DIZEXH2 AR S R (XA THE!) 100,000 90,000 10,000
ORIE] HHIAIR(EXS HH)
2,000,000 %505 100,000
ZEFE ALY 713,140 714,416 A1,276
201 LBH2AH| 40,160 33,200 6,960
01 AlR2:2|H| 40,160 33,200 6,960
OAMH=E U SAHAS SHINQG| B
100,000 x5 *23 1,000
O2SFHUPR| BX2 o3| HAxE
100, 00015223 1,000
OBSF MEIZA 38,160
— QARG (HSAL, BIHA, CRAF, 2HIA
ZEHRIR|AL)
300, 000 *6Z x5 %4 3] 36,000
—QI2ZAF OlH] 2 WEH|
90,0009 6 =43 2,160
301 YRHEAS 3,780 2,016 1,764
11 BAFAIHIXI 22 3,780 2,016 1,764
O2SFY 22| A 2 ERASL 29 ZAH|
7,0002*182+303] 3,780
308 RHXISHHISOIA 4,200 4,200
13 B 2SO0 HEH B AR RIE AL 4,200 4,200




SA: ASY
HE: I B2 N (ABI=XI/F=8)
ol e ojd (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OR=Zeize| NK(E) 4,200
—=X HE3|9 PAe N
700,0002+63] 4,200
401 A& HIL S 0HY] 75,000 75,000 0
01 Al&ZHI 75,000 75,000 0
OARR ZEFEH OHEEY
6,250,000 % 12J4 A 75,000
402 QI2HXH=20| & 590,000 600,000 10,000
01 DIZEXH2 AR S R (XA THE!) 590,000 600,000 10,000
OBSFTEHITZ KIAAI(A2ICHA 60%, HIZH2ICHA
80%) 590,000,000 * 14! 590,000
EXALC 29 11,500 4,700 6,800
201 L2 A 11,500 4,700 6,800
01 AlR2:2|H] 11,500 4,700 6,800
OZ&ALC 11,500
—PRABS LG 100,000 %7103 7,000
—RAFA LI 90,0002%52 %103 4,500
(2)=AHZ0d 6,240,000 6,120,461 119,539
= 4,992,000
[ 624,000
Al 624,000
301 YB3 5,040,000 4,620,461 419,539
= 4,032,000
[ 504,000
Al 504,000
01 AFBIEEESH2(RREZM) 5,040,000 4,620,461 419,539
ORI ZMEZNH(FAHS01)
5,040,000, 00084 %1 4! 5,040,000
= 4,032,000
[ 504,000
Al 504,000
403 RFXISHHISXH=20( ™ 1,200,000 1,500,000 A300,000
= 960,000
[ 120,000
Al 120,000
02 2| 2SO0 CHE A2 X I ELAFSH 1,200,000 1,500,000 A300,000
O INI=10 1,200,000,0002 % 14! 1,200,000
= 960,000
[ 120,000
Al 120,000
(2)sHEZ NI FEIN T AL 34,200 26,600 7,600
= 17,100
[ 5,130
Al 11,970




M ASD
B 3 8 N (MEI=R/Fe)
ol e ojd (CH: M 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
401 AlEHIZL 08I 34,200 0 34,200
= 17,100
& 5,130
Al 11,970
01 AlIEH| 34,200 0 34,200
Os0HE ZOHeI==E I XIFAMY
3,800,000 & %970 2~ 34,200
= 17,100
& 5,130
Al 11,970
(D)0ERE AXNESZ 0| HKJAIY 50,000 65,000 A 15,000
= 25,000
Al 25,000
307 212t01& 50,000 65,000 A 15,000
= 25,000
Al 25,000
08 OIXtENZ 50,000 65,000 A 15,000
OLERS ANTES OITKIY A
2,000,000 #2570t 50,000
& 25,000
Al 25,000
(=)0l AHHl KIAMS 3,200 3,200 0
= 1,600
& 480
Al 1,120
301 LESBHZ 3,200 3,200 0
= 1,600
& 480
Al 1,120
01 ASIBEE2HS(2DEZME) 3,200 3,200 0
OO0lAHH| & MEZ XA
400,000&*8It+ 3,200
= 1,600
& 480
Al 1,120
HEU (I ELXIGNL/XSLZAl) 39,202 27,552 11,650
§AZE A=A 39,202 27,552 11,650
SYHARS =5 36,672 25,022 11,650
101 el44| 25,242 15,392 9,850
04 JIZtHI2Z2 NS ES 25,242 15,392 9,850
OAESUE MK 2% o9
78,880&*14x200 15,776
OARS LEFHY Y L NS 29 o2y
78,8809 124% 1202 9,466




SN AS
HIM: AZHE(ZEUXANL/XALCAl)
CHPlr st AFY (crol: ®al)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
201 LEH2 S 11,430 9,630 1,800
01 AF222IHI 11,430 9,630 1,800
OA=2H TAHRY(ASH 35)
470,000 14! 470
OSIEHA=S A EQ S22
500,0002%23] 1,000
O=2A3] 9,960
—9d B4 =& 100, 0002 *20H *33] 6,000
—AHE AAF =Y 30,0002 +20%4 33 1,800
—<& A 0oyl 90,0002 «8 %33 2,160
Z2AHE2 22 2,530 2,530
201 L2 A 2,530 2,530 0
01 AFRZH2IHI 2,530 2,530 0
O22AH=2 #AUN T2 AO0IE
1,200,0002 13 1,200
OA=2A THPLY(SIEE 2 45)
700,000+ 12 700
OZBAERE M4l Kol
15024 1452%3000H 630
HYSHAY|(ASDH) (JIEHIIEH 104,616 87,640 16,976
DIEE=LE] 104,616 87,640 16,976
J1=ZH| 104,616 87,640 16,976
201 L2 S 28,536 23,040 5,496
01 AF222IHI 28,536 23,040 5,496
OSAEX 72 20,0002 %18+ Ax 122 4,320
OSZ20HAld] 8,000 +7Alx 18T 122 12,09
Ogetrz2 100,000 * 12 1,200
OARZ TARYH 50,00081% 12 600
OARL 24 8,160
—=ZARDI(HE) 22 1,000,0002*1CH 1,000
—HXelH =cl 100, 000 R *4CH*50% 200
—=AD| EY 200,000 *53]+1CH 1,000
—T2IE EL(Z%H)
200,000 %53 *4CH 4,000
—TRIE EU(Z)
200,000 %53 1CH 1,000
—PC ==l 100, 0002 *18CH*20% 360
—DJIEt 22| 50,00081% 122 600
OJIEF AFR2t2IH| 10,0002« 1812 2,160
202 Ot 71,280 59,400 11,880
01 2LH0IH 71,280 59,400 11,880
O2tLHoE| 20,0002 %18 * 12« 12& 51,840
O2t2/04d| 120,000 % 1829 19,440
203 2| 3,600 3,000 600
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